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Objective Type

paper Code : 2024 (15t-A) Roll No:

Number: 2643 INTERMEDIATE PART - I (11th Class)

BUSINESS MATHEMATICS (COMMERCE GROUP)  PAPER-I

I_IEELALLOWED: 15 Minutes MAXIMUM MARKS: 10

Note: Yqu have four choices for each objective type question as A B, C and D. The choice which you
think is gorrect, fill that bubble in front of that question number, on bubble sheet. Use marker or
pen to fill the bubbles. Cutting or filling two or more bubbles will Tesult in zero mark in that .

question.

e

Sr. Questions T (A) (B) © D)
1 |21 in binary number system is: (1011) (10111), (10001), (10101}
7 [(1101), X (10), = (11010), | (10110), (10011), | (101011);

- A 4
3 ThevalueofkifA=‘[3- 2] is A=2 A=4 _A=6 A=8
singular. ; -
o B 3 4

4 |IfA= then Adjoint of

RN ¥ R -1 =2
Ais: R
5 [The ra't.m between 3.5kg and 1:38 1:3 1:21 3.4
10.5kg is: - : . -
6 (Using fundamental principle of
proportion, what is value of x in
12:x::28:21
7 |The simple interest on a !oan off  Rs220 Rs.320 Rs.520 Rs.420
Rs.3000 for 2 years at 7% is:
8 [if £ (x) = x2 — 4, then f(=2) is 0 4 4 g
equal to: : : .
9 [If 5 times a number of 190, then 40 39 . 18 16
the number will be: ! i :
10{The solution set of the equation {‘,5}'

22+ 11x+5=0is:
3. C [+ B [5 B 6. C [7. D [8 A J9. C [10.B |

12 10 - 9 16

1 :
{-5»-5}. (1,5} {-1,-5}

LD 2. A
. Subjective Type
INTERMEDIATE PART - I (11t CLASS) 2024 (I A) RONG, i
BUSINESS MATHEMATICS TIME ALLOWED: 1.45 Hours
PART-I (COMMERCE GOUP) _ MAXIMUM MARKS: 40
Write same question number and its parts number on answer book, as given in the
quastion paper. SECTION - 1 : 6x2-—12.
m Attempt any six parts. i ' ” E
) 1715 dozens of eggs cost.Rs.600. How much will cost 5 dozevns of eggs?
Sol. Place the given value in the form of table.
Eggs(dozens) Cost (Rs) :
15 T 600 . . » i
T 5 x(say)
: -\xBy_meOrﬁon 5:15::x:600 _ 2
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Product of extremes = Product of extremes ; g |
(15)(x) =(600)(5) ' '
= ————(60105)(5) = X =200
So, the cost of 5 dozen eggs is 200. : o o s
(i) The ratio of boys and girls in a school is 9 : 5. If total number of students is 1050,
the number of boys.
Sol. Ratio of boys and girls =9 : 5
Total number os students = 1050
Let:  Number of boys = 9x
And Number of girls = 5x
According to given condition

ing

9x +5x. = 1050
14x = 1050
1050 -
ST Wt

So, number of boys in school are = 9x =9 (75) =675
(iii) Calculate Zakat on amount of Rs.2500000?
Sol. Totl amount = Rs.2500,000

1
Rate of zakat = 2-2'% =2.5%=0.025

© Zakat =25,00,000 x 0.025
Zakat = 62500
(iv) ~ Define Annuity due.

Ans. An annuity is considered as to be annuity due if évery payment is made at the beginning of

each payment period and continues for a definite period. This annui
mode annuity.

3x+2=2!+6
q 5 :
Sol. 5(3x+2)=4(2x +6) = 15x+10=8x+24

14 .
115x—8x=24—10 = 7x‘=l4 = X=—==2

7

ty is also called beginning

(v) Solve

(vi) Find the domain and range of y = 2x + 3
Sol. y=2x+3
As the given function can be defined for all value of real numbers
So, Domain = set of real number
2 =0R
= R )
Range = set of real number
¥ OR
‘R |
(vii) Solve by factorization 4x2+ 4x -3 = (
Sol. 42 +4x -3 =0 '
4x2 +6x-2x~3 =0
2x(x+3)=1(x+3) =0
x+3)(2x-1) =0
x+3 =0 ;2x-1 =9
Sl i Sl S

4
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l{ﬁ’;‘d the discriminate of 4x2 —13x + 3 =
\L 4x2-13x+3=0 = a=4 b=-13,¢=3

sol piscriminant = b? —dac = (-13)2 - 4(4)(3) = 169 — 48 = 121
@ what is the simple interest on Rs.180000 for two years at 5%7?
sal. Given the P =Rs. 180000
N =2 years
I =5%=0.05
Simple Interest = S.1=PIN
=(180000) (0.05) (2) .
) S.I =Rs. 18000 : 4

03] Attempt any six parts. ' S ex2=12.
0 Define odd function. #il : i

Ans. A function is called an odd function if f(-x) = -f(x)
Example: f(x)=x3

x+3x -2 ‘
@) UfO="3rq »finds(0)
- 2
Sol. | fix) = 3‘_-';—?4—_2
' putx =0 .
(0)* +3(0)-2
M0 = e
0+0-2" =2 "
R e T
K Zje
=3
@iy Convert (35)q into binary system.
Sol. 2135 ;
2[17-1
281
2]4-0
2]2-0
T1-0 So, 35 = (100011),

(i) Convert (1011), into decimal systent.

Sol. (1011),
=1x22+0x2 +1x

(v)  Simplify (1011); — (1000),

Sol. (1011),

—  (1000),

———— ' '
(0011), . -

-—————-.-E——l' 2
() FigdABifA=[3 J*'FH
ey
S 'A=[3 u’B:H
-2 1 2 4*1];[5}
AB =[3 1][1] e+l U7

i) peg; tri " - fcolumns. -
ne rectangular matrix. : ber of rows is not equal to number of columns. .
Ans, A . i a matrix in which number .

* A rectangular matrix (s a m

2'+1x20=lx8‘+0><4+l><2+lxl=8-l_-0+2+1=ll

. [1 2 I]
.g,
Zo LD 1B
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| B &4 Licasid . ——— e e l R | ]
(viii) Find the valueof X if A= [3 x] is singular. |
2 1
Sol- A = 3 X
If A is singular
So Al =0
2 1
I =0=2x-3=0
3 x
3
2x=3 =x=7
4 -4
(ix) IfA= 6 -5 , then find |A| and Adj A.
: - (4 4
Sdl. A = 6 -5
4 -4
Al = 6 -5 =-20+24=4
' -5 4
AdjA = 6 4
SECTION - II |
WIS Attempt any TWO questions. ' 2x8=16

071 (a)15 men can finish a job in 8 days. How many men are iequired to do the same job in 5

days?
Sol. Men Days |
R T |
x(say) . : .19
By proportion iS:xz:5:8
= - S5x=8x15
_ 8x15 5
‘ X=—3 = 24 ’ . |
(b) Find the compound interest If Rs. 10000 loaned for 5 years @ 8% per annum. 1
Sol. Giventhat Principal =P "= Rs. 10000
n =35 years

Interest Rate =i = 8% per annum
r =0.08 per annum
As Compound Interest=C.I =p(l +i)>-P

= 10000 (1 +0.08)° - 10000 = 14693.28 — 10000

=Rs. 4693.28
(T3 (2) Draw the graph of y = x2 - _ 4
Sol. y=x2 .
X 3 2 1 0 -1 -2 —3
y=x| 9 4 I 0 1 4 9
y-axis
L
(~3,9) § -t 4 (3.9)
-24) -4 [ 2.4)
SRR PR TN
X=X} 8 i—ims (oé) : b el
Y—‘mda
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gl .
o solve the equation by using quadratic lormula X2~ (nf_i

sol-

25y .
x’—3(x+.._ -
] 12) 9x
25
x*-3x-3[=| =

25
x?=3x-2 o
2 9x

25

x?-3x- 9x—— =
4 0

X —IZX—% =0
4x*-48x-25 =
a=4,b=-48, =o2§ %
b++vb? -4ac

2a

X =

N —(—48)  \/(—48)* ~ 4(4)(-25)

2(4)

48:1:52

8
100

> »

I ]
N|LNA oelo
» x
I I

e
SS = 2732

i3 (2) Simplity {(100111), + (10101),} - (10111),
Sol. [(100111)2+(10101)2] (10111), :
=(111100), - (10111),
= (100101), ‘

o 1" 1 1, =
0 1»0 t), T

S|l ek

481J2304+40 48+«/27

8

_ 48+52 _ 48-52

8

8

) u[ H] [‘:’:’] Find y and 2.

| z
“ LI
Z+35 ] [35}
[3z+7y] T4
By definatin of equal matrix
z+35 =35___ () .
3z+7y =14___ (i)
[From )y z=35-35 =0 ‘
z = 0 putin (ii)
3(0)+7y =14 ]
N—— Ty =14=>y=2
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